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Analog signal Digital signal
- 9 £(continuous) - =% (discrete)
o AMA = « AR BH

- 2MAS UE AR He
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Analog system Digital system
- 220 HEE AHE =7t - 2210 dHE XHE JIs
- R4= - 4=t
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Digit: A, &7t

Ot2fH| Of

<At 0, 1, 2, 3, 4, 5,6, 7, 8,9

A= 228+ A dE SEIF 294
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I 221 Al AEl(binary system)

22 A2 EEE HO|EE2 Ha|ste A|AE

HE (bit) = b1nary + digit: 22l4 ot Af2|, 0 E= 1
221 H|O|E{ Q| Tt
(a) HIE(bit) (b) L{=(nibble) (c) HIO[E(byte)

MSB —@0|0|1|1|1|1|1|1 LSB

(d) MSB2} LSB

MSB (Most significant bit) vs. LSB (Least significant bit)
- OIAH 2-1
- (12345678),,:  MSD = , LSD =

- (00001111),: MSB = 5 LSB



§ 2.1 CIRY AAE Q09F

-

CIR|E A|AE
. £AE HE|Fe AlA

.l
« A/D HEI7|: OIL R ASE 222 H

o

= HO|EE AElot= AlL

—

——

[1oh



A2 1nOal=LL- O
= Hoisi= H

=

| (weighted number)



§ 2.2.1 102

SA 4 (weighted number)

1234.56
e 7|=(symbol): {0, 1, 2, 3, 4, 5, 6, 7, 8, 9}
- A2|ofl mEt FA 7 Ch=L

20| ¥ 1 2 3 4 5 0
NS 3 2 1 0 -1 2
=Yl 10° 10 10" 10° 107" 107
o : (1234.56),, =1x10° + 2x10% +3x10" + 4x10° +5x10™" +6x10~°
=1000 +200+30+4+0.5+0.06
=1234.56

VIN) = A, X 10" P+ A, X102+ -+ A X100 ™
n—l
— 2 Ak X 10k

k=—m



} 2.2.2 RUA

71& A A A A A, A,
Xl 3 2 1 0 -1 =2
2 R R R RO R R~®

R O| 4

« 7|=(symbol): {0, 1, 2, .., R-1}
e ZF ‘
oA VIN) = Ay X R+ ALy X R2 4 £ A X R
n—1
- Z Ak X Rk

k=-—m

O : (1A4C)
* 7|§: {0J 1) 2) 3) 4) 5) 6) 7) 8) 9) AJ B) CJ D) EJ F}

o 45 1x163+10x16%+4x161+12x16° = 4,096+2,560+64+12 = 6,732
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b [olA 2-2] 37| AA

49| 37|18 10742 HoN L
HA0| X ¢ 1 O|fE 238oMEL
1. (519.87),,

2. (127.4),

3. (127.4),

4. (1BE),

5. (1101.1),
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w -1, 0, 1, .

A 4 (signed number):

&l 4= (real number):

x R"= 10..0 (00| n7{{)

ol
H0

104

i

o]

<+

0~ 10-1 =0 ~ 9...9 (97} n7H)

0 ~ R-1

10214 nAtg|:

RZI nZte:
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[OlA 2-3] 2] B2 &<

(1) 4A2{2] 102l

(2) 43k2]9| 5214

(3) 4At2{e| 221+

(4) 32t2| 16214

(5) 8at2| 274

fu[n
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V(N)=A  xR"™+A ,xR"+...A xR™

= nZ_:Akak

k=—m
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A A Ao Ay AR A

W 4N 4
A A A A A

AP X QX Q@ X QA@XQA!
(RS \04.1‘

(
R e el G o e T
Sl e el A e PR e e e ek
Sl e el A e PR e e e ek
N R B P TN e T I PR e e ek
AT AL PR e e ek

Y

I == =8, 280 Mt 30| O
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V(N)=A  x10""+A ,x10" +---A x10°
=X, xR"™+ X _,xR"™ +.-. X, xR’

V(N)/R=X,_,xR"™+X,_,xR"™ +-.-X,xR"

remains X,
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0| A&|] RRI+~2 H=t

OIA| 2-4] 2242 B K2

P QAQAGEQAGASQAGI @A @A
P QAQAGEQAGASQAGI @A @A
P QAQAGEQAGASQAGI @A @A
@ QAR AGAS* QAGA S %
@ QAR AGAS* QAGA S %

[GlA| 2-5] 527,, — 8%
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§ 2.3.2 2212, 8R4, 1624
10 2% 2 2% A% 16 24
0 0000 00 0
1 0001 01 1
2 0010 02 2
3 0011 03 3
4 0100 04 4
5 0101 05 5
§) 0110 06 6
7 0111 07 7
8 1000 10 8
9 1001 11 9
10 1010 12 A
11 1011 13 B
12 1100 14 C
13 1101 15 D
14 1110 16 E
15 1111 17 F
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G

| I— [T

=
221+ & 824 23 =

1100010110010001 <«

0000110110000010 <>

0110111000111010 <«

0100111101111011 <

22 & o 16RI45: 24 =

1100010110010001 <>
0000110110000010 <«
0110111000111010 «
0100111101111011 «

o (142621),
~ (006602),
~ (067072),
o (047573),

< (C591)
< (9D82),,
<> (6E3A)
< (4F7B),

22



R

[Ofl A 2-6] 2% HeEt
(1)(10110001101011),5 8242

(2)(10110001101011),E 1622

(3)(523),2 22 4=

(4) (D1AF) ;= 8%+ E

23



| >

ok
2° =1

24 = 16
28 = 256

210 =1024=1K
220 =1Mega
23% =1Giga

240 =1Tera

21
25
29

216
224
732
243

64

219
2217

234 —
247 —

2 = 8
27

I
[N
N
oo

24



o1

b LEH [ (RAt2[ 2] %)

LI+=7| R:

26 At

24 = 16:
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2.4 3C

At 0|2[9] H|O|HE 22+=2 BEIS= THE

=AF ZE
e, 54, d: AD HA(HEE) (d=)

2.4.1 QIZEQ C|ZE
2.4.2 0|Zlgt HRFE

2.4.3 A I E

27



4.1 QI3 EQL C|ZE

of 20 & 221429 0|7t CtEL}

A2 78 » AE

=

Ol 3 E (encode):

C| 2 E (decode):
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| 2 o

AL {a, ¢, v, &}0] TSt T E
Ao A TEAA 1 IEAA 2 IEAA 3 IEAHA 4
. 0 1 00 101
o 10 11 01 111
V) 110 111 10 110
& 1110 1111 11 000
IE o
e L 1: aveov — 1110 110 0_10_110 — 1110110010110 — avacv
e L 2: aveov — 1111 1111 11 111 — 1111111111111 — 72727
e L 3: avacv — 11 10 00 01 10 — 1110000110 — &vac0
o TL 4: 0400 — 000 110 101 111 110 — 000110101111110 — avacv




[l Al 2-9] &
(1) A4 8%
(2) Y4 107Y
(3) Y4 1674
(4) Y& 2574
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§ 2.4.2 0|3} A

A|

—_

L=

BCD (Binary Coded Decimal)

10 24 7|5 0 1 2 3 4 5 6 7 8 9

8421 BCD 2= | 0000 | oool | 0010 | 0011 | 0100 | 0101 | 0110 | 0111 | 1000 | 1001

3x1t BCD T E 0011 | 0100 | 0101 | 0110 | 0111 | 1000 | 1001 | 1010 | 1011 | 1100
AtH 4= (self-complementary) EM

- H4: 02 12, 1S 092 HHE £

- [X+ (Xe] E4) =90 Cffer ZE] QI &4 (31 BCD)

- 3 (0110)2| E 4 1001 (6)
- 3+6=09

(Gl A 2-10] (1225),
8421 BCD A E:

31t BCD ZE:

31



f2.4.3 22 3C

ASCII(American Standard Code for Information Interchange)

hﬂb2b1bﬂ b5h5b4

000 001 010 011 100 101 110 111
0000 NUL DLE sp 0 @ p p
0001 SOH DC1 _ 1 A Q a q
0010 STX DC2 : 2 B R b ‘
0011 ETX DC3 # 3 C S c 5
0100 EOT DC4 $ 4 D T d t
0101 ENQ NAK % 5 C u e u
0110 ACK SYN & 6 F v f v
0111 BEL ETB = 7 G W g w
1000 BS CAN [ 8 H X h X
1001 HT EM ) 9 | % i y
1010 LF SUB : J Z j z
1011 VT ESC + ; K [ k [
1100 Fr FS ( L \ | |
1101 CR GS = M ] m )
1110 S0 RS ) N A n -
1111 sl us ? 0 _ o DEL

[0l A 2-12] “Good Morning!”



d T2|E| H|E(parity bit)

Ij2|E| H|IE ——> P Llefe| 28l
o 2|E| H|E
- HIO[E{7} SH}EA| AAlst7| 25t F7ist= HIE
- % Oi2|E|(even parity): 10| #HLJt E|E 5 FUI5t= H|IE

. E4 2|E|(odd parity): 10| E47} BT 2 Z7bste H|E

[Ol Al 2-13] &2 Z+ Dj2|E| 1617

- A= (OtA7| 2E) B=) (<)
- T=(OI&7 2E) B=) () _______
bebsb
bab,b;b s
000 001 010 011 100 101
0000 NUL DLE SP 0 @ P
0001 SOH DC1 ! 1 A Q
0010 STX DC2 2 B H
0011 ETX DC3 # 3 C S
0100 EQT DC4 5 4 D T
At la k™ Al i S = I



ENELS

(Unicode)

qLU=E

MA Z=2] Ao B
THAHo=z &L= 16HE A A4
19910 A 1.0, S 20184 11.0

U+0000 ~ U+007F F A FEAt Hi R
< oY L2t Z&

5t22 U+ACOOEE{ U+D7A37TIA| 11,172 =
=AEZT|e] ZARUA FLIZEEQI

g9

= At &
7#%

34



= A}

o 1
« QIFE(encode): HA0 LSt =AE BOHst= 1t4
« LT E(decode): =AE H 2ol *IAE &= 1t4H

A ARl ZE
« BCD (Binary-Coded Decimal)

- FA ZE: OfA7| ZE, RLIZE
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| 02. tiojel B8 29
2.1 C|RA|E A|AE
- A/D BH=t7|, D/A HET|
+ 07l A|AH
2.2 9| AA
« BA £ (weighted code)
- 2 Het, 22, 82,
2.3 I &
. QFE/CjAE
 BCD, ASCII
A3E =2lglz 7|z
CoEE|HM FE(RE TS
. k2|32 SF BH(=24,
- O 7iA] =2| AO[E &7

6214

: H[E(bit), H}IO|E(byte)

V(N)=A  xR™+A ,xR™+..A xR

= nZEAk x R
k=-m

12X, ZI7tR)
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